Entrepreneurship- Assessments- 1

Q1. Starting up a new venture with a new idea is called entrepreneurship. T ¢ faR & 91 U a1 39 R HIAT
AT Fgard gl

TRUE Tg!

FALSE Teld
Q2. Entrepreneurship is an opportunity to create wealth JIfAT &4 UeT A BT Th AR g

TRUE 93!
FALSE TTcid
Q3. Which of these is an example of entrepreneurship? ERLES) DI IgAMAT BT Teh 3cle U] 2.

A, Starting up a business based on an old idea, existing business module, and 1€ss risk. &k YT faaR, HI\:ldI AIUR
Wﬁmﬁ@n%wmquwwmwl
B, Teaching in an IT/MBBS coaching institute. T 11T / MBBS PITaiT JRITIH fegme- |

C, Starting up a business based on a new app/software, with high'risk, 3=l SiRaH & 91y Uh U ﬁﬂ?{ / IFCaR &
STYR UR I YRS HRATI

D, None of the above E:I'Ef T ﬁ'sc e} :%3[

Q4. Which of these is an example of entrepreneurship? TR &1 IgH=iddr &1 Uh JalgrU 7.

A, Starting up a new type of restaurant in aity. Geb Ue< T U UPR & &R R DA
B, Working in a call center/BPO. U BiehTic 4 aars H &1 &A1

C, Teaching mathematics in a coaching eenter. Ueb HIfaT Hex H TOTd UGHT|

D, Managing and completing tasks/@iven by the boss in a company. fot Ut & §fg grT fou g HAf o Tefed
HRAT 3R T BT

Q5. An entrepreneur is.one'who is involved in a FEW of these activities — managing, organizing, innovating, assuming

risks,egﬁwmagm%ﬁﬁﬁnﬁﬁfﬁu‘fésFEwﬁmﬁaaﬁ%_u@m, SRS, FATER, SHRAH Tgur
CIGIRCIITAD

A, TRUE Hg!
B, FALSE TTcld
Q6. An entrepreneur does the following activities — managing, organizing and makes all the decisions by himself. T

It e nfafafiat wvar & — udeq, s ik g+t fofa wg #=ar g1
A, TRUE Tl

B, FALSE Tcld
Q7. An entrepreneur is a person who takes less risk, avoids experimentation. Tch L] dg fad @FIT % o A SifEH
AT B, TN § §EAT B .

A, TRUE Tgl
B, FALSE TTdd
Q8. A successful entrepreneur can become rich very fast. Th bl I ggd Aol T 3R 99 bl % [



A, TRUE 9@l

B, FALSE cld

Q9. All people who start up a business based on a new idea are always successful. T¢ fIaR & YR R I Y=
HA a1l T AT gHRN 9 B §

TRUE 9g!

FALSE cTd

Q10. 92 % of the startups are successful within the first 3 years of starting? 92% ey = 8 & Ugd 3 auf &
iR T g 2.

TRUE gl

FALSE TTdId

Entrepreneurship and Entrepreneurial Character- Assessments-2

Q1. Does entrepreneurship involve 2 1 AT | e %’?.

Managing responsibilities fSTRGIRET T Taie

Organizing tasks HI! BT TS

Evaluating risks in the new venture. ¢ 3&H H SIRIH HT i |

All of the above. SR & IHT|

Q2. Entrepreneurship involves organizing managing and:assuming the risks pertaining to your enterprise etc. And an

entrepreneur is one who is involved in ALL of these, SR B TUPH IIH 3A1E T Teierd SRIHT B USferd wA
3R WY BT SIS HAT M § 3R Th I8! agngron 37 Tuft & =nfirar g1

TRUE gl

FALSE TTddd

Q3. Building a business takes time than'it takes to generate the idea for the businessUd qITY DT fAmfor
AT GHE O ¢ NI & R R e @i #.

Shorter BTeT

Same a"e?r

Longer GEREEE Y

Cannot say qﬁ[ ‘e dhdl

Q4. Entrepreneurs should:not be greedy to grow big, as this needs patience as well. It Bl a@ 8 &1 e gl
FRAT AT, s 39 forg & & off sra=adsar gt g1

TRUE 9g!

FALSE TTcId

Q5. Entrepreneurs need to have to be successful. THd BH & o AT Bl ARGl
AT 1.

Patience &R

Patient X7t

Money bR

Luck HTI'g

Q6. is the specific tool of entrepreneurship I o1 ARy Iudmur %

Creation ﬁ@
Renovation TdIR0T

Innovation A=Y
Experimentation TR



Q7. Entrepreneurs need membership in physical communities where ideas can be shared and shaped. It &t s
TUGRN & GEIdl B SIIdHdl il & o8t fA9R 8 Yhd & WIel 3R TSR] .

TRUE Tal

FALSE Tcld
Q8. How to inspire and create entrepreneurial leaders within the organizations? a1 & HiaR It st & Rkd
TR 3R T & fow e,

Develop entrepreneurial ecosystems inside organizations to promote entrepreneurial activity as a mainstream,
strategic activity ¥ W,Wﬁﬁﬁﬁla? *U § Igw=itad nfafafy o deldl éﬁ %mm% 3R
JerRiterdr uiRfRUfde! o &

Promote employees often 3{RR ARG} B deldl Goll

Both are correcta:ﬁ w %
None of them are correct 3TH aﬁ‘s‘ ot 3333[ 7-@ %‘

Q9. Organizations are not entrepreneurial but people are entrepreneurial. TT3T IGHT ol % Qe AT I %'I.
TRUE 9@

FALSE TTdid
Q10. Entrepreneuring framed as intentional iteration creates SR T D U H dUR T T ITm.

A mindset that is prepared. U ARG Sl dIR B Sl %I
Expects multiple challenges. Fs ?f-ﬁﬁ?iﬁ BT 30ET HT ¢ |
Both are correct. Eﬁ:ﬁ 9—59[ %l

None are correct. ﬁ'sc T %I

Identifying Business'‘Opportunities- Assessments-3

Q1. An idea is defined as the content oficognition. T fdaR BT 3 &t It & &9 § uRkyia fasar m 1.
TRUE 9@

FALSE TIad
Q2. Is every idea a possible opportunity? T &% faTR Teh THTFAT 3aTR 87,

TRUE g1

FALSE TTaid
Q3. How to identify whether an idea is a opportunity or not? ¥ Uga o Ue faaR Th 3/awR § a1 781,

An idea needs to be valuable T faaR &) Ted S &1 aRTwHdl §

An idea needs to fulfill the need of a customer. T& faaR & T TP B HTARTHAT B! TR HIA DI HTIRIHT 8
Both are correct. EﬁT‘ﬁ '\‘:@T %I

Neither is correct. T §1 gl %I

Q4. Why do we need to evaluate an idea? T UH fqaR &1 P RIEE HRA DI A HA T 87 .

To know whether customers will buy the end product of an idea. T8 SIGEC fore T Ut® ot faaR & Sifqr Iare
DI G a1 T |

To know whether the entrepreneur will make profits out of an idea. g S & fo for It fedt foaR @ ey
SHHTT T 51 |

To know whether the entrepreneur can make a valuable product out of an idea. Ig S & fore fs o It te



TIaH IAG &I T AR I a8 R ol ¢ |
All of the above. ST & THI|
Q5. Successful entrepreneurship requires the ability to balance technical knowledge and market knowledge ¥t <l IHar

¥ fory -t I SR SR I BT Yferd B B &dT B STIRIHT Bl 5.
TRUE gl

FALSE Tcid

Q6. An electrician observed that grocery stores in his area are running successfully and wanted to open one too. He opened
one but was not able to make any profits. Why? Td» sﬁiﬁjﬁﬂﬂ q ¢ o 30 &3 o faxe ot ghId

e g § 3R Tt W I8 81 I TP B @iel, Afh HIg arH Taf B U | 7 HR2,

The electrician did not have any technical knowledge about how to run a grocery store. R @t gdhId M &

TR T ARIRET $I B3 db-i! I T8l ATl

The electrician did not realize that they were already three successful grocery stores in his area and there was no need for

%rl_rc%?eronein his area. SAGCITRITT = HEQW e fbar for § uga ¥ € 3o S W d [ &t g & 3R
£d

Both are Correct?ﬂ:ﬁ ﬂfﬁ %
Neither is correct. :13% ﬂ?’f %I

Q7. Cash flows simply put is the difference between the cash that flows in and cash that flows out & A HId I

Fhcl & od BT 3R & ot UaTe H I8l 8 3R Thd! SiliaTeR T84 o,
TRUE ¥g!

FALSE Tcld
Q8. Upfront capital and R& D requirement costs should be high while evaluating whether an idea is an opportunity or not.

T 3R Th SR ¢ 1 6], Gedid- Hd THGSUTHC dHited 3R 3RUSS! Hdl anTd 3ifed gt anfgul.
TRUE 9g!

FALSE TTcId
Q9. The market should be large and.growing while evaluating whether an idea is an opportunity or not. T IKCIW Th
AR B T e, TTBNHeATH A THT dToR IS8T 3R -1 Y.

TRUE Tg!

FALSE TTdd
Q10. The venture/ business'should be of high strategic value to a potential acquirer. T Hurfad ufkfea safdd &t 3w /
I I D & BT g1 MBI

TRUE 9al
FALSE Teld

Understanding Cost Structures- Assessments- 4
QL. is the monetary value of resources, like material, labour and overheads, used in the making of a product or
delivery of a service. WWWWW%@@WW@TWWWWW%
I a1 faarur & faw fovar S B1.
Inputs T1YC

Receivables TG



Inventories ?Eﬁ

Cost oIl
Q2. Direct vs indirect costs are based their association with different cost objects. Y& §-TH AUIE NI faftr amrd
3t & 1Y I JSTd W SR &

TRUE 9@
FALSE Teid
Q3. Costs that do not vary in the short term, regardless of changes in output levels, are called costs. d TTT SIf

Jded $ TR § 9¢ard 31 IRarg fbu &, srearafy # firg 72 gt §, 3= NI e SffdT

Direct Cost Y& <IlTd

Indirect Cost 3TUE& <INTd

Fixed Cost fAf3d ANTd

Expired Cost g B AT

Q4. Retail companies like Reliance Fresh, D-Mart, Big Bazaar have toa degree of conversion.

mmﬁnﬁﬁnwéﬁﬁ%ﬂmésw H foift =uiarur 81

Low to Medium 9 ¥ #ezy
Medium to High 7e&TH & 3=
Low to High:ﬁ%[ I SR dd
High to Medium 3= ¥ ALH
the key determinants of the cost of goods sold (COGS), which appears on the P&L statement.

é‘cﬁﬂ's‘aﬁ\%ﬁ (COGS) B AT & T FuRe € P& L By IR fawrs adr

Indirect Cost 3TUE& NI
Fixed Cost fAfgd amrd
Expired Cost g Pt AT
Product Cost ITHTT T HeH

is the cost of any material directly.used in the production of the output. 3{13cYc & JdTeA
ﬁ;ﬁﬁmaﬁaﬁaﬁw ff grrh Hhara 81

Expired Cost g @ AT

Product Cost HTHIFFHT Hcd

Direct Material Cost T & STHUT T
Unexpired Costs HUf&d arTd

Q7. cost includes‘salaries, bonuses, insurance, pension benefits, earned leave paid to the individuals involved.
T & et st Y 3, S, o, OR A, SR SrawTRT S 2.
Surplus 3faRad

Direct Material Cost Ud&f ITHUT ANTd
Direct Labour Cost Y& 4H dRTd

Unexpired Costs S{Ufard AT
Q8. Cost allocation is a method through which a business allocates or distributes an indirect cost across various cost
objects..

TRUE 9g!
FALSE TTdd
Q9. Costs that vary with the output levels are called variable costs SdTgT ¥R & 1Y Feadl ANTd P IRGd- aTd

HET o1 &

Product Cost HTHI T Hcd
Direct Material Cost Ucd&f ITHUT ARTd



Variable Cost URad=1g NTd

Fixed Cost M&d ANTd
Q10. costs are those that have been completely consumed or the benefits from which have been received by the
business. AT & O O oRE § A 1 T & A1 3 Y O e U g gl

Expired Costs Wd DI AT
Unexpired Costs 3{UTarT AT
Direct Costs Y& AN Td
Indirect Costs Y& TINTd

Long Term Orientation- Assessments- 5

Q1. What are the characteristics or traits of a successful entrepreneur? Select.the best.option. T Hhcl I B

fIRIwaTy a1 qefur 1 82 qaY ST fadhed g 1.

Risk — Taker. SIIRaH T aTaf|

Goal — Oriented W& LT

Thrive on uncertainty. ST R HH B

All of the above. $UR & THT|

Q2. What is not a characteristics/trait of a successful entrepreneur? T b ¢l I o1 fa=ivar / fa=war e =& 8.

Good communication skills 35T TR HIA

To have strong technical knowledge HSIgd dbeilp! I Eh:ﬂ E|T%'Q

Quits halfway when the situation becomes difficult: Rfq wfeT Eﬁ%f TR 3 I @3 é_cﬂ %I

Solves a problem with a unique and creative solution. T 3 Sl 3R TETHS FHIYM & 1Y Uh JHYT g Hpdl
i

Q3. Entrepreneurs are always looking, for new ways of doing things and how they can make them better. Which trait is

being discussed here? SETH! SHRILATS T B &b T dRIb! DI I H T6d § 3R I I8 HY gk &1 Thd o
Tgl frg faRiwar e o) S e 32.

Optimistic Nature 3MTRIATG! Yabfd
Consistency ITfdl

Creativity XITHD T
Commitment Hfciaigdl

Q4. Entrepreneurs effectively sell their product or service to clients and customers. Which trait is being discussed here?

I U IATE TT AT Bl YU =0 I AEHT 3R Tgh! ! 99d & | T8 (b [IAvar ot == o1 off Ia! 82,

Optimistic Nature 3T=TTaTc! Yapfd

Goal Oriented ¢1&d G’ﬁ'@

Communication Skills TR B

Creativity YITHD I

Q5. Entrepreneurs don’t let uncertainty and potential failure stop them from doing what needs to be done. Which trait is

being discussed here? IEHT SAf¥ar 3R THIAT fatradr & 37 TH HA T el AP JHhd off B B
ATl ¢ | Tl [ faRwar ot ==af 3t 1 &t 82,

Communication Skills TaR HITd

Strong Technical Knowledge HSIgd APl A
Creativity YITHD I

Risk- Taker. SIRGH T aTall|



is the ability to evaluate, assimilate and exploit knowledge. M BT H\FCIW SHTHIATA
sﬁ? RO B BT AT B,

Additive Capacity JToid &HdT

Assimilative Capacity THITd P P &

Absorptive Capacity SR &

Attritive Capacity HTHYD &

Q7. Absorptive Capacity comes from prior, related knowledge to be able to make sense of, recognize the value of, and use

new information. ROl &l U4 @ Talid 2, Galid I ) Gwe & e 2, % Ued &1 UgaHdl @ 3R 78
TSR BT FUANT Bl 1.

TRUE Tg!

FALSE Teld
Q8. Why is it important to have prior knowledge or relatable expertise to become a successful entrepreneur? T bl

ot 59 & oY gd 319 a1 HRRe Qe &1 g ot Ayl 82
Prior knowledge contributes to expectation formation U:qp T 3OET o HAFEH, a8

Helps to make decisions like whether to invest in the idea or not. fER 7 3% &390 a1 9 1 oY g @9 § Hee
FHRAT B

Prior knowledge does not help much, it is not required to become a successful entrepreneur. qﬁ I dgd Haa Tel BT
8, TP I STH §91 & forg Smaass 8l ¢

BothAandBAGhT Ba:ﬁ

Q9. A successful tailor wanted to try something new. So, hedopened a street food restaurant in his area. But his restaurant
did not run properly and eventually he had to close it down. Why? Please select the best option. Tdh b ¢l EﬁﬁW BRI
HRA B DI HIAT AT UT| ST, I LS T T Wi TS J[R1 Wil | Afdp ST IRi 3l o Tt
AT 3R MRRBR I% T §¢ HIALUGH. FHR? U1 T 37371 [awed g

He was not a risk taker dg SIUCERNEACIN :TEPT 1)
He was not a goal-oriented. dg (I&-8H9 SEHEIL
He did not have prigigknowledgé of how to run a restaurant. 3 WeRe IaH BT tl:d: iG] :13? YT |

None of the above: E':I'ff q Eﬁ% o et

Q10. A knowledgeable cook opened a South- Indian Restaurant in Chennai. But the business was not running smoothly

and later on he had to close it What went wrong? T SR ITIZAT A o H Th Sfeor URdT &Rt @an| dfds
U YA U Sgl @ g1 T 3R a1 § 39 §g BT UST| o7 TTed g,

Recording Business Transactions- Assessments- 6

is a record of all of a business’ existing assets, liabilities and equity. ~ oJdd & ot tﬁ@

Wmmmmwm%

Profit and Loss Statement ATH 3R g1+ @1 faavor
Statement of Cash Flow T&a! UaTg & faavor
Balance Sheetaﬁg Rl

General Journal ITATY St

Q2. What are three financial sheets that used to record and report a business? GIGACGIECRECAC R % N et g @i
Rors 3k fard &a .

Balance Sheet, General Journal, Profit and Loss Statement éﬁv Qﬁ'cr, A aqﬁ:ﬁ o TS BTﬁ faaRor



Balance Sheet, Statement of Cash Flow, Ledger Account o 2ffe, APl Uarg &1 faarur | 9! @rdl

Statement of Cash Flow, General Journal, Ledger Account EEa | Udle &l ﬁT:R'UT, M a_rlﬁ:ﬁ aﬁ ECII

Statement of Cash Flow, Balance Sheet, Profit, and Loss Statement ~1q>c:\| Jdrg ol iaORUI, Sy Qﬂ?f, Y US B A
fqazor

Q3. Balance Sheet is a record of all of a business’ revenues and costs over a certain period of time, typically, every quarter

or every year. S99 e U HIT % Tl 3T 3R U IR A SR AT bl Ueb RpiS ¢ .
TRUE &

FALSE Tcid
Q4. Equity and liabilities come first in a balance sheet, followed by assets. gfder 3R arfeferds Th oy efie ugd
3T §, 39 I1e Fuf gt 5

TRUE Tg!

FALSE TTed
Q5. Select the correct equation Tl JHIHRUT T TG .

Total Assets = Total Liabilities + Equity $ ¢ ot = Dd NIRIF ESE S L

Total Liabilities = Total Assets + Equity rafaferdis = Pl afx] + Sfebcl

Total Equity = Total Assets + Total Liabilities $¢f 3l = Pd T+ ol NIPICINES]

Total Equity = Total Liabilities — Total Assets gl 3l = P rafaferdter — Pd yfy

Q6. A busi%ness cannot survive for long without . Th gaarg & fo1 de 99 d& Sifad T&f
g dhdl Bl.

Manpower SHRITa
Cash H1

Infrastructure HfHHREY TqRT
None Tﬁi el

Q7. Geeta has a grocery shop; the customers have already paid Rs 5,000 to her. Geeta decided to pay her supplier Rs.2000
at the end of the week. According to Accrual Basis calculate her Profit? i &t f= Bt gPhI 8, UTEd! - Ugd gt
39 5,000 % | BT WA HR fT 81 Tl = TwTg & 3fd H 30 TWRR Bl 2000 YT & &1 Haal Tl sfagrd
IR & IR IWD Y B TUHT BT 82 .

0
3000
300
5000

Q8. Accountants worldwide use the triple-entry system to record transactions. Q"ﬁtﬂ IR T TAHR A8 Bl Rl
FA & fog U1t Reew &1 IUa d g

TRUE gl

FALSE TTdd

Q9. Transactions are entered into the general journal in chronological order. Wﬂﬁﬁ@ %A T T H UieT o
Tl foT ST &1

TRUE Ta!
FALSE Tad

is a record of all of a business’ existing assets, liabilities and equity. ~ IddY & quft ﬁTTET
trﬁmuﬁﬁr eIt ofR St o1 T Rl B



Profit and Loss Statement @TH 3R g1 &1 faarur
Statement of Cash Flow da WaTg &l faavor
Balance Sheetaﬁg Rl

General Journal dTH] atlﬁ:ﬁ

Basic Financial Terms - Assessments- 7

Q1. What is the primary objective of a business? o<l gaumg &1 uufe 3%52!1 Ell %?.

Make money for investors by providing goods or services HI¢T dT @rarrq UG HRab [HARIP] & fow bRl HHY
Make money for retailers by providing goods for services Jareft & oW THE YaH a5 RER fagsarsit & fom T
HHM

Make money for customers by providing goods or services JTHI AT JaTE Y& HRPb AeD| o ferd BE| Y ]
Make money for employees by providing goods or services dTHIT T W e PP HHAING! & fam Ty HHIY
Q2. What are the key inputs of business? STUTT & TG =T IV &1 87,

Labour ¥H

Land Hﬁ{

Capital 11\‘:?[

All of the above STRTGT It

Q3. What is the output of the business? IdITT HT AT HIT 87,

Goods HIdT

Services ¥aTq

Both of the above SURIGd a:ﬁ
Neither is correct ?ﬁ'sc thi ?I?DI T&ﬁ

Q4. What are the different forms of business? S4GURI & (AT &T T 32,

Sole proprietorship, Friendship,Corporations TeHT TTfired, At (frsram), fm

Sole proprietorship, Partnership;Goxporations ThHIA Wi, Yrfiery, A

Sole proprietorship, Partnership,Commemoration ThHIA ET&IH, ﬂ'@?ﬂ'\ﬁ, Wﬁ_&lﬁ(w m’s’)
Sole presidentship, Partnership,Commemoration T HIF &, YRTERT, TRUTY (FR® YHARIE)

Q5. What is a Solé proprigtorship? AT TdTHd 3T 87,

A single owner whalis alsgaiSually responsible for the day-to-day running of the business T 3(ha Jifa® Sl
AR W fEA-UfAfET % caam & forg RieR ghar 8

A single employee who is also usually responsible for the day-to-day running of the business Udh 3Bl FHART S
AR W fA-ufife & oraam & forg Rier g &

A single retailer is also usually responsible for the day-to-day running of the business Tdh 3ol faghar 3 IR W
fe-ufafe & soaama & forg fomieR g g

A single partner who s also usually responsible for the day-to-day running of the business Tdh 3 al TEHTT o STHAR
R feA-ufafe & sraar & forw RideR g 8

Q6. has multiple owners or partners, some of whom are also usually responsible for the day-to-day running

ofthebus%ness. & Fs AIfI® 1 AeieR 8, 0 I 8 I9ud & fG7-ufafe & ga & fo ot
fSFER §1.

Friendship EEG

Presidentship S{&I&dT

Partnership

Corporations A

Q7. What is a corporation? e &= %?.



A separate legal entity with a large number of owners aa“r e ¥ At & Ty Udh 3T W:fﬁ _&’a?Té

A separate illegal entity with a large number of owners asﬁ et | At o a1y Udh 3Tl 3y =T

Multiple owners or partners, some of whom are also usually responsible for the day-to-day running of the business
F3 T A1 AIeieR, ford ¥ 8 sJaur & faq-ufafes & aem & fow off er §

Al of the above. SR & FHI(ITRIT F+)

Q8. Identify a non-example of accounting? SICIEREaRcd ﬁ?—G‘c{IETUT qgaT? .

How much value in rupees of goods or services has the business sold HI¢T T Jarett & S0 H fore1 HU % ST gaag
AR

List of investments in land, facilities, buildings, etc. the business made 3{&[, ﬂﬁ%ﬂ\"rﬁ, 1-Ia:ﬁ, srrl% " ﬁ’_r{ Ry a9 3
Costs the business incurred. SIIIRT § @%f CIRIRCE]

List and details of favourite customers UGGl UTGHI DI E{?ﬁ 3R faavom

Q9. is about planning for the uncertain future and deciding what kind.of investments should the

business make. AT HiTST B} Ao S 3R T8 98 B & IR | ¢ [Pcaaary &l g R &1
o= 1 =nfeul.

Finance fad

Governance XM

Maintenance XXRWId

Dominance YHId

Q10. is a way for a business to raise capital but there is no obligation to repay entities that provide capital.
Instead, entities are given ownership of the business. U FIA & g Trﬁ ﬁ?ﬁ &1 T IRIBT § AT
@ﬁ@mﬁﬂﬁwﬁﬁwﬁ%ﬁaﬁ%aﬁaﬁ% 3P ToY, TRTHT BT I T Wi e
SIdr g .

Liabilities GGl
Equity 3‘@_&
Partnership BIEFR]
Assets 9T

Accounting'and Business Reporting- Assessments- 8

Q1. Balance Sheet divided.into 2 parts o e 2 Y & fyuifora,

Assests & Liabilities

Equity & Liabilities IRTufyat 3R Igdmg

Equity & Assests gfdet 3R Q@N

None of them are correct. 3_4'3[ I ﬁ'sc ot ‘v'l%bf 7-%3[ %I

Q2. sheet represents the financial position of a business as of a particular date, typically at the end of a

quarter or financial year. e o fauw fafy & U # auy & fa<iy Rufd &1 gfafAfe st
2, SR R T fawret a1 fowfta adf & sid #1.

Statement of cash flows & ¢ 3THG fdarol

Profit & loss (P&L) statement TTH 3R I (U1 ¢S Td) sOF
Balance sheet ¢l UH

Ledger Sheet ToR e

Q3. Inventories is the value of raw materials held, work-in-process and finished good held by the business. “Fded Tl

AT BT Hed, B-TfshadT 3R ATIR gRT TR dR AT BT 4 31 .



TRUE gl

FALSE TTcld

Q4. Both assets and liabilities are classified as current and non-current. 3! ot ok SAEIRal &Y ada 3R
R-adAH & wu § arffepd fear man g1

TRUE gl
FALSE Tcid
Q5. are those assets that are expected to be sold or converted to cash or consumed within one year.

3 Tt € oM T avf & ik 99 OF a1 Aed! § uRafdd 81 a1 SuHT 819 31 Swiie g1

Current Assets IcHT IO

Current Liablities g SRl

Non- current Assets TR dTcpTieies TRITRT

Non — current Liabilities TR Iﬁq'c’[[ eIt

Q6. Non-current assets include , which typically last for more than one year. R-gdqH ufkgufuat
o el €, &1 o1 AR TR U aY  Sifiiep Gy o el 21,

Plant, property and establishment T4, TUfRy 3R RITGAT

plant, property and equipment G347, Ty 3R ITHRT

Penchant, property,equipment T-abid, TURT, SUHRTT

Plant, property, experiment S, Safy, TGN

Q7. What are the common types of current assets? A Uy & T UHR T %’7

Cash, Inventories, Deliverables, Long-term loans, and advances. av_&’f, ?gﬁai ,%?ﬁﬁi_@lﬁ, A-T-cH @ 3R Tediy|
Tangible assets, Intangible assets, Non-current investments ﬂjf HYf, B{ij Tufyy, IR-gdur fAawr
Cash, Inventories, Intangible assets, Non-current investments g, Eﬁﬁ, aijff F'TIﬁf, R-gdad fRaw

Cash Inventories, Receivables, Short-termeansiand advances 7h q, ‘éfd'dnl qry, S CAINEE I G‘ﬁT 3o
is the value of raw materials held, work-in-process and finished good held by the business.

aﬁrwmq\m% o R -UTHa B & IR T GRT AR 3T 21,

Surplus Sffafad

Revenues X[S¥d

Debuntures f&sTR

Surplus. SRR

Q9. Any income or profit not paid out to shareholders is called . ARYURD] Bl YT T8l B ns‘
31T T Y BI g1 ST B

Retained earnings ufaenfa W'Ié

Revenues XTo¥d

Debuntures f&saR

Surplus. SRR

Q10. is also called income statement. HI 3 faaror ot wer ST B

Statement of cash flows &G 3THG fdarur

Profit and Loss Statement. @TH 3% ETP"T faazor|
Balance Sheet ¢4 U

General Journal. TTATY SHd |

Marketing Education_Handling Questions & Concerns -Assessments- 9
Q1. A trusted adviser promotes a product aggressively to the customer Tdh Iy qATEHR UEH DI 3MHTHG TUY

¥ IdE S FgrdT <l 5.




TRUE g1
FALSE TTdd
Q2. How to become a trusted adviser? Uch fayg-tg IaeHR Y .

Understand the concerns of the customer. UTgh CARERIEIKA] Hﬂ@fl
Peddle/promote the product. 4Sd / 3dIq Cal deldl ol

Both are correct. Il Fl—&pf %I

Neither is correct. 7-|'{ﬁ ﬂ'{-ﬁ %I

Q3. Service promise is the assurance given to the customer about in time delivery of assured and
ofprodug@ﬁﬁﬁ%ﬁﬁ%ﬁﬁ@a 3R F I R AR & IR # far ma
SICINERIR

Integrity and Certainty 3R&SdT 3R ffgrdar

Sincerity and Specialityéﬂ'l_'rc{ﬁ 3R fa=wan

Quantity and Quality HIAT 3R Tora<dn

Variety and Guaranty fafaerr 3R TRet

Q4. Delivering what customer wants is one of the constituents of a service promise. Teb. UTlgh Y1 & dle # I Th g
e aTedl & fadid STl

TRUE g1

FALSE TTed
Q5. Why should we identify customer needs? 85 I8! &1 SIed! P UgdH oI AT a1fgu?.

The motive driving the customer to purchase an item is the need for it. et axd P WeH & f%ﬂ;f PIRED P URT BT
IADI TR g

Ensures customer satisfaction and loyalty, DIREINC] ﬂ'g,’@ 3R qwTERY ﬁﬁﬁ’ﬂ IR B,

Both are correct. Eﬁ:ﬁ 9—59[ %l

Neither is correct. T &1 Tal %I

Q6. The innovation of products based.on customer needs is of value for the business. UEDI DI &Rl B SMUR W
IJAGl T AIER T & I TAHT & 1.

TRUE 9g!

FALSE TTcld

Q7. Active Listening is one of the client reactions to a typical sales pitch. Tford sfaur uw ARy faw! fira o o wmea!
@ ufaferarsit ¥ 4.0 7 1.

TRUE g1

FALSE TIad
Q8. Select the correct structures of a good sales pitch? T 331 faeh! U &1 TgT TRT1ST BT I P2

Hook and Objective. g 3R ml

Rook and Objective. ‘P 3R G%'Q'ql

Rook and Subjective. 3 3R faw |

Nook and Subjective. JFh S 3R fam|

Q9. Hearing is the same as listening. 1T {Fﬁ ST 8 R

TRUE Ta!

FALSE TTddd
Q10. Listening for enjoyment is called as 3 & e g &1 HET T 8.

Appreciative Listening TRIHTH® 4gUl
Articulative Listening dcllHP TN



Inspirational Listening BRUYICUE AP
Empathetic Listening S{JHaS AUl

Marketing Education Value / Assessments- 10

Q1. Why is a customer purchasing from a particular store? Ale® ot faRy €R ¥ TR & & @1 %?.

Because the customer values the AC you provide inside the shop. Fifch AEH 3MUd GRI gPI & 3R IUAX FRIT

T T I HEd el §

Because the customer values the product or service the shop provides. P Ted SRl II6 1 Jal I Hed adl
8 O g USH Bt gl

Because the customer values the friendship with the shop’s owner. Fifh UTeH CAR] & TP & I TR Dl 7gd
G

All of the above. HUR & Tt |

Q2. Value is what the shop/store provides to the customer. ( like services of a shop or features of a product) Hcd dg % il
UEdH B! gD / GHM UeH oxdl g | (5l g a1 ITe BT ghawmsht &1 aa).

TRUE g1

FALSE TTcld
Q3. Select the correct statement. Tl YT T 9T Corab

Value is customer defined. Al UTeh TR %I
Value is consultant defined. Hed ITe bR gRTYG %I
Value is salesman defined. H{cd JRAFURYTG B |
Value is businessman defined. e SaaTE! GRHTNG B
Q4. Select the correct statement. H’{ﬁ HY BT ITT B

Value depends on the features or services provided by the store. e €R GRI Y™ $I oI arelt ﬁﬁﬁﬂ&ﬁ q1
Taref R R e 3

Value depends on the features or services sold by the salesman. Hcd ICEGIFRKEI TF§ ﬁﬁ?ﬂ&ﬁ 1 Jaraff iR R
FIA G

Value depends on the features or services discounted by the store’s owner. Hed TR & Wl gRI wc FRIE ﬁﬁ?ﬂ@ﬁ a1
arsff R AR Par gl

Value depends on the features or services consumed by the customer. Hcd Ulgdh gRI JUURT BT S arelt ﬁﬁf‘iﬂ\?‘h
a1 Fare W R e 7 _

Q5. Where does the value reside? HIH Eb?\TJ Xedl %’?.

In the salesman’s mind. STHT P femam |

At the POC of the store. ©R & POC WX |

In the customer’s mind. UTeh & T H

In the store’s owner mind. gbTd & Oifeiss & feam o

Q6. Value can be defined in terms of perspective as well as based on HE B &
uRied & Try-ry ¥ uRveg § aRyIid far o w1 g1

Customer, cost UTeh, INTd

Newcomer, price :lﬂ'l"'i_gl,ai HHT

Customer, price ITg P, HHAd
Newcomer, cost TANIgD, ANTd



Q7. — everyone competes on price as no one is exploying how they are aple to differently adding value to
customer. ~ R BIS Bd R gyl Hrar § wife 1% ot a8 T Wit @1 ] b 3 ured Y
ST~ 3T eI S+ H Y Fed B .

Digitization ISEEESAE]
Commoditization ?mﬂﬁ?s@rm
Privitization FSTepRUT
Capitalization WUT

Q8. What is the advantage of adopting a value perspective? HIH e DI UM T 1 ATH %?.

Clear differentiation. TIF NG|

Helping the customer understand how and how much they benefit. Then asking for a share of that benefit. UTeh A g
T T Heg BT fh 3% 4 3R a1 wraal giar g1 iR 39 a1y &1 U o<l Hil 381 8

Ability to justify pricing or even price at a premium. Hcd fRufRor o1 fiftem w— 4t sad ot el 38X BI &Hd
All of the above. $UR & IHT|

Q9. According to the Value Framework for Entrepreneurs, select the best statementbelow. Il & ﬁ'm qJ9 TS

& TR, - AU TN G 3 HYUA BT I Be .

Value Creation — Value Delivery — Value Capture. {cI famfor - PPS2) &= - Hd R hol |
Value Capture — Value Creation — Value Delivery H¢d UX sl — Hed fmfor — HY faaRor
Value Creation — Value Capture — Value Delivery. Jcd fmfor - HA R dooll - H faazon|
Value Delivery — Value Creation — Value Capture. e faeRo — g fmfor — T R hel|

Q10. Why is a customer purchasing from a particular store? UTe ot faRy €R ¥ WRIGRT & R @1 %?.

Because the customer values the AC you provide inside the shop. Fifeh AEH 3T GRI g & 3R IUA] FRIT
T T & 7T T 5

Because the customer values th&¥produet or service the shop provides. Fifdb Jdleh 39 3dig T a1 B Hed a_cﬂ
2 S g e Bl B

Because the customer values the friendship with the shop’s owner. Fifp Uleh ghld & Hifels & 1Y m Ca Hed
LRI

All of the above. SR & Tt




